TECHNICAL DATA SHEET

STRUCTURAL FIXINGS IN
UNCRACKED CONCRETE

MTH MTH-AT
CHARACTERISTICS

e Roughness working principle; installation by controlled torque.
e  Use for high loads.
e Assessed for two installation depths.

e  Easy installation. SIZE RANGE

e Usein non-cracked concrete.

e  Previous installation, or through the fixture. M6 - M20

e Use for static or quasi-static loads.

e  Three versions zinc plated, stainless steel A2 and A4. DRILL HOLE CONDITION

e  Variety of lengths and sizes, assembly flexibility.

e DIN 440 for fixing wood structures to concrete.
e  Available in INDEXcal

DRY WET FLOODED
APPLICATION MAXIMUM LOADS RECOMMENDED IN NON-CRACKED CONCRETE [kg]
e  Structural applications in
non-cracked concrete. MTH/MTH'AT MTH-AZ/A4

e  Safety barriers.

e  Billboards, machinery,
boilers, signals, Steel beams, = H g
etc. ‘-‘ T T
M6 M8 M10 M12 M14 M16 M20

e  Fixings wood structures in M6 M8 M10  M12 M16 M20
concrete. *M14 only for MTH

1551

APPLICATION EXAMPLES

Ref. FT MTH-en Rev: 11 23/04/25 10f19



TECHNICAL DATA SHEET g"DEx

A PERFECT FIXING

ITEM CODE SIZE PHOTO COMPONENT MATERIAL
H (W_ e — Bolt Carbon steel cold formed, zinc-plated > 5um
1 AH M6 to M20 Clip Carbon steel, zinc-plated = 5um
. Nut DIN 934 class 6 1SO 898-1 zinc-plated = 5um
2zl Washer DIN 125, DIN 9021 o DIN 440 zinc-plated 2 5pm
M kmmm_'b_—“ Bolt Carbon steel cold formed, atlantis > 8um
Clip Carbon steel, atlantis > 8um
2 AHAT NP ‘ ﬁw Nut DIN 934 class 6 1SO 898-1 atlantis > 8um
W Washer DIN 125, DIN 9021 o DIN 440 atlantis > 8um
Bolt Stainless steel, grade A2
: Clip Stainless steel, grade A2
2 mi ol A Nut DIN 934 stainless steel, grade A2
ek Washer DIN 125, DIN 9021 o DIN 440 stainless steel, grade A2
i i e Bolt Stainless steel, grade A4
Clip Stainless steel, grade A4
4 MIA4 M6 to M20 » Nut DIN 934 stainless steel, grade A4
A'm Washer DIN 125, DIN 9021 o DIN 440 stainless steel, grade A4
2. ACCESSORIES
ITEM CODE PHOTO DESCRIPTION
— _—
1 DOMTA —¥ = Accessory for anchor installation with hammer drill
2 TP-MT . . Plastic plug for MT, colors black and white (M6 to M16)

3. INSTALLATION DATA

3.1. INSTALLATION DRAWING

dy
Sw NN . 4 * . | -
%\ ‘A- ' A A - g K
T - 4 ) . : A .
. &l ok 2
q-_ : ' 'hef. | q, 4 A 1 g |
N . T ' : ‘ |14
\ L Rnom ) e |
?x - a. - -,
T\nst h1
tﬁx o hmin s

Ref. FT MTH-en Rev: 11 23/04/25 20f19



TECHNICAL DATASHEET g"DEx

A PERFECT FIXING

3.2. INSTALLATION PARAMETERS

General installation parameters Standard installation depth Reduced installation depth
o E E
-_ Vi Vi
o o o N o S N o S
g 5 8 T 3 8 2 g ¥ 5 2 ® 2 g ¥ g g E
& $ = 2 2 5 2 2 ] & w3 ¢ £ & 2 s S x w g 2w £
- © o S o = = < &= C c o = = < e < = C c (%} c =
= £ L = = 8 S = o = 5 ‘5 © o € = o = <] = ° = 5 ‘S © o € = o =
5} 8 @ ® © 5 S e o 8 e _ DE o © 5 © g o » 8 e _ D5
> Q@ o © ] £ E 4 E o - = o @ a8 2y o® og E£g - = o @ a8 g 5% oy
= o ~ @ = & @ S w S .2 ER ) ° ® > o R} = & - £ -8 3 a0 ° ® > o R} = - £ -8
£ o [ a 2 = 3 E £ ED £ c = = B s £ S S S s S E [ E £ = = B s £ S S S s S E S s
g S & 8 £ £ £ E8 E£» E% % § &8 2 25 £§ 5 ££ E3 & g 88 3§ £5 £§ £5 =&
< & & 2 S 5% S=£ a £ 53 £ e 535 S& &3 5% a £ 53 £ S5 535 S5& &3
[__] [__] [__] ETA do dl Tinst Smin Cmin hmin h1 hnnm hef tﬁx Scr N Ccl’,N Scr Sp Ccr,sp hmin h1 hnnm hef tfix SCI’,N Ccr N Scr sp ccr Sp
[mm]  [mm] [Nm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm]  [mm]  [mm]  [mm]
AHO06060 M6 x 60 (B) v 2 -
AH06070 M6 x 70 (C) 4 12 -
AH06080 M6 x 80 (D) v 22 -
AH06090 M6 x 90 (E) v 32 -
AH06100 M6 x 100 (E) v 42 -
AH06110 M6 x 110 (F) v 52 -
AH06120 M6 x 120 (G) v 6 7 7 35 35 100 55 49,5 40 62 120 60 160 80 - - - - - - - - -
AH06130 M6 x 130 (H) v 72 -
AH06140 M6 x 140 (1) v 82 -
AH06150 M6 x 150 (1) v 92 -
AH06160 M6 x 160 (J) v 102 -
AH06170 M6 x 170 (K) v 112 -
z AH06180 M6 x 180 (L) v 122 -
2 AH08060 M8 x 60 (B) v = = = = = = = = = 3
AH08075 M8 x 75 (C) v 5 18
AHO08090 M8 x 90 (E) v 20 33
AH08100 M8 x 100 (E) v 30 43
8 9 20 40 40 100 50 46,5 35 105 53 140 70
AH08115 M8 x 115 (G) v 100 65 59,5 48 45 144 72 192 96 58
AH08120 M8 x 120 (G) v 50 63
AH08130 M8 x 130 (H) v 60 73
AHO08155 M8 x 155 (J) v 85 98
AH10070 M10 x 70 (C) 4 - - - - - - - - - 3
AH10080 M10 x 80 (D) v - - - - - - - - - 13
AH10090 M10 x 90 (E) v 10 12 35 50 50 10 100 60 53,5 42 23 126 63 168 84
AH10100 M10 x 100 (E) v 110 75 66,5 55 20 165 83 220 110 33
AH10120 M10 x 120 (G) 4 40 53

Ref. FT MTH-en Rev: 11 23/04/25 30f19



TECHNICAL DATASHEET

ENDEX

A PERFECT FIXING

3.2. INSTALLATION PARAMETERS

General installation parameters Standard installation depth Reduced installation depth

v
29 K 2 A Q () Al @ O c
2 - — Q -
. g 2 3 3 § 2 £ & 3 & ¥ B 3 g F ¢ ; w
o - @ E 3 S £ =3 o x w o LD [ = G £ o o X 2 o
= I3 ] o o w c = (] < &= c & S c s c = () < & —_ ] £
3 E 5 s - = - 5 S %85 ® &3 8 = - s = s £ £
= - S ] £ ESE Ew i S o @ 8g TE S5 TE2 o, i S o o T8 &§ T ==
= 51 = < @ S w =& S 9 o H g @ » 9 ] 2 e ] El 2] i S @ 2 o ° L o = T L
z < a 5 S S Ec ET Ec¢ < = < £ 55 @8c- 8B ®c& E¢g = = £ £ 2y 23 oF o3
= ] ] = o o =G = o = x B © = 3 S 2 S8 X LS = x B © = X i T o T B T o
£ S [ @ = < £ & Ew £ o ° a8 O 5 B8 B s g ES 3 b a8 S G S £ S E S g
i S & 2 8 £ e 53 5% s5:& & 2 £33 £vw 5& 583¢5& 584 s5: & g E2 E£€vw £5 2§ 25 E£8
i & &3 e &3
[__] [__] [__] ETA dD dl Tinst Smin len hmln h1 hnnm hef tﬁx Scr N Ccr N Scr sp Ccr,sp hmln h1 hnnm hef tfix SCI’,N Ccr,N Scr,sp ccr Sp
[mm]  [mm] [Nm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm]  [mm]  [mm]  [mm]  [mm]  [mm]
AH10140 M10 x 140 (1) v 60 73
AH10150 M10 x 150 (1) 4 70 83
AH10160 M10 x 160 (J) v 80 93
AH10170 M10x 170 (K) v 10 12 35 50 50 110 75 66,5 55 % 165 83 220 110 100 60 53,5 42 103 126 63 168 84
X
AH10210 M10 x 210 (N) v 130 143
AH10230 M10 x 230 (P) v 150 163
AH12090 M12 x 90 (E) v - - - - - - - - - 13
AH12100 M12 x 100 (E) v 8 23
AH12110 M12 x 110 (F) v 18 33
AH12120 M12 x 120 (G) v 28 43
z AH12130 M12 x 130 (H) v 38 53
b3 AH12140 M12 x 140 (1) v 12 14 60 70 70 48 100 70 62 50 63 150 75 200 100
130 85 77 65 195 98 260 130
AH12160 M12 x 160 (J) v 68 83
AH12180 M12 x 180 (L) v 88 103
AH12200 M12 x 200 (M) v 108 123
AH12220 M12 x 220 (O) v 128 143
AH12250 M12 x 250 (Q) v 158 173
AH14120 M14 x 120 (G) 4 12 -
AH14145 M14 x 145 (1) v 37 -
AH14170 M14 x 170 (K) v 14 16 90 80 80 150 100 91 75 62 225 113 300 150 = = = = - - - - =
AH14220 M14 x 220 (0) v 112 -
AH14250 M14 x 250 (Q) 4 142 -
Ref. FT MTH-en Rev: 11 23/04/25 40f19



TECHNICAL DATASHEET g"bzx

A PERFECT FIXING

3.2. INSTALLATION PARAMETERS

General installation parameters Standard installation depth Reduced installation depth
% [7] (] Al @ - % A () v g
1 1 o o
5 5 3 T 3 £ s 5 ¥ 5 o B & 2 g ¥ 5 2 e
b= [ Q - [<] = = - c - o = = - c
° 2 c 3 3 S < 5 o = [T 3) Q 7y = S < o o x 0o o o0 =
= s k) 29 < = 3 5 & £ € g £ = S = ] = = £ < S | £ =
= £ 5 = e 8 = = 2 5 S8 Y5 ¢ &3 8 = = 2 s S8 &§ g %5
K3 = 5 o £ EE Ew S S o 9 2¢g TS S5 TE £, S ] o @ 2g9 TE a5 TE
= -~ Q - o o S w ER] El] o = g @ 29 ] e ] = H ° = g ] L9 29 = 24
E 2 g g s £ z E£ ET E:g g S %5 £ 35 3:E BE 3:g Ez s S ®s £ B85t TE BFE %%
5 S X 9 = 2 g ER E&H £ 2 £ 28 S £ 25§ B85 5§ £3 8 i 38 S 55 E& 525 =538
2 & & 2 S 5% S=E a £ 53 = 5 53 &S& 53 SE a £ 53 £ 58 535 &2 &3
[__] [__] [__] ETA do df Tinst Smin cmin hmin hl hnom he' tfix scr N ccr N Scr,sp ccr Sp hmin hl hnom he' tfix Scr N Ccr N Scr,sp ccr sp
[mm]  [mm] [Nm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm]
AH16125 M16 x 125 (G) v 3 22
AH16145 M16 x 145 (1) v 23 42
AH16170 M16 x 170 (K) v 48 67
16 18 120 90 90 168 110 103,5 84 252 126 280 140 130 90 84,5 65 195 98 260 130
- AH16220 M16 x 220 (0) v 98 117
E AH16250 M16 x 250 (Q) v 128 147
=
AH16280 M16 x 280 (S) v 158 177
AH20170 M20 x 170 (K) v 23 49
AH20220 M20 x 220 (0) v 20 22 240 135 135 206 135 125 103 73 309 155 360 180 150 107 97 75 99 225 113 300 150
AH20270 M20 x 270 (S) v 123 149
MI06045 M6 x 45 (A) [x] = = = = = = = = = 100 40 35 25 1 75 38 160 80
MI06060 M6 x 60 (B) v 2 --
MI06080 M6 x 80 (D) 4 22 =
MI06120 M6 x 120 (G) v 62 =
6 7 7 50 50
MI06140 M6 x 140 (1) v 100 55 49,5 40 82 120 60 160 80 = = = = = = = = =
MI06160 M6 x 160 (J) v 102 =
MI06170 M6 x 170 (K) v 112 -
P MI06180 M6 x 180 (L) v 122 =
E MI08050 M8 x 50 (A) [x] - - - - - - - - - 100 40 35 23 4 69 35 140 70
= MI08075 M8 x 75 (C) v s 5 20 - . 5 18
MI08090 M8 x 90 (E) v 100 65 59,5 48 20 144 72 192 9% 100 50 46,5 35 33 105 53 140 70
MI08115 M8 x 115 (G) v 45 58
MI10070 M10 x 70 (C) v = = = = = = = = = 3
MI10090 M10 x 90 (E) v 10 23
10 12 35 70 70 100 60 53,5 42 126 63 168 84
MI10120 M10 x 120 (G) v 110 75 66,5 55 40 165 83 220 110 53
MI10150 M10 x 150 (1) v 70 83

Ref. FT MTH-en Rev: 11 23/04/25 50f19



TECHNICAL DATASHEET g“bzx

A PERFECT FIXING

3.2. INSTALLATION PARAMETERS

General installation parameters Standard installation depth Reduced installation depth
T T
= Vi 5 Vi =
° ] o
; . 2 $ 5 gz & . ¢ ¢ : s 3 5 ¢ B B - 5
£ 1] Q s s K o B = = —_ ° c & o s = = —_ ° c
3 g8 5 3 24 B s & ¢ £ P g B - £ 3 £ £ 27 g 2 =
£ £ 5 s sg 8 g c 5 TS &5 3 g5 8 = - 5 T8 4§ 3 &3
3 o 5 3 £ EE E»2 = £ 5 & 29 TS 2w To Ea <o £ g & 22 T+ 2w T2
= & - Q - 5 @ S w s 2 S 9 o H 4 o 29 ] L c 2y S 8 5} H 4 o 29 =29 L e ]
E 3 9 a s 5 3 EE ET  E: £ = =4 £ 35 S5 S8 B8g5 Ec £ = E s £ S S5 SE Sgs
S & a = 2 g E8R E& £ 2 3B = b= 8 85 =8 £3 2 28 = = Eg EBZ B2
= 2 E 5 | & e s5g 5% s52 & g2 E& £ 58 &£ 5& 54 s5:2 & g2 Eg £ 5& 54 5&8 5%
-] -] -] a do df Tinst S (i Pimin hy hnom het tiix Scr,N Corn Sem (e Nimin hy hnom het trix Ser,n Carn S Camep
[mm] [mm] [Nm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm]
MI12075 M12 x 75 (C) [x] = = = = = = = = = 100 60 55 43 5 129 65 200 100
MI12090 M12 x 90 (D) v 5 u o o & = = = = = = = = = 13
MI12110 M12 x 110 (F) v 18 100 70 62 50 33 150 75 200 100
MI12140 A" , 130 85 77 65 18 195 98 260 130 o3
o
<I.t MI16090 M16 x 90 (D) Ix] - - - - - - - - - 100 75 69 49 4 147 74 280 140
E MI16145 M16 x 145 (1) v 16 18 120 110 110 168 110 | 1035 | 84 23 »5) 126 236 168 -
MI16170 M16 x 170 (K) v ’ 48 -
MI20120 M20x 120 (G)  [x] = = = = = = = = = 145 105 93 71 5 213 107 360 180
MI20170 M20 x 170 (K) v 20 22 240 135 135 23 =
206 135 125 103 309 155 412 200 - - - - - - - -
MI20220 M20 x 220 () v 73 =
MIA406045 M6 x 45 (A) Ix] - - - - - - - - - 100 40 35 25 1 75 38 160 80
MIA406060 M6 x 60 (B) v 6 7 7 50 50 2
100 55 49,5 40 120 60 160 30 - - - - - - - - -
MIA406080 M6 x 80 (D) v 22
MIA408050 M8 x 50 (A) [x] == - - == - - - - - 100 40 35 23 4 69 35 140 70
MIA408075 M8 x 75 (C) v . . % . . 5 8
MIA408090 M8 x 90 (E) 4 100 65 59,5 48 20 144 72 192 96 100 50 46,5 35 23 105 53 140 70
S MIA408115  M8x115(G) v 45 58
I MIA410070 M10 x 70 (C) v - - - - - - - - - 3
2 MIA410090 M10x 90 (E) v 10 12 35 70 70 10 100 60 53,5 42 23 126 63 168 84
MIA410120  M10x 120 (G) v 110 75 66,5 55 40 165 83 220 110 ’ 53
MIA410150  M10 x 150 (1) v 70 83
MIA412075 M12 x 75 (C) Ix] = = = = = = = = = 100 60 55 43 5 129 65 200 100
MIA412090  M12x 90 (D) v " u o o & = = = = = = = = = 13
MIA412110  M12 x 110 (F) v 130 g5 77 - 18 195 o8 260 130 100 70 62 50 33 150 75 200 100
MIA412140  M12 x 140 (1) v 48 63

Ref. FT MTH-en Rev: 11 23/04/25 6 of 19



TECHNICAL DATASHEET _!_"DEX

A PERFECT FIXING

3.2. INSTALLATION PARAMETERS

General installation parameters Standard installation depth Reduced installation depth
T T
s vi = Vi =
o o o A S A S
g 5 s T 3 % : 5 § £ 2 B 8 s B s g B
b 2 2 2 3 5 2 3 ] % w g o w £ 5 2 2 5 5 o [ m £
= @ & o o9 € = 3 5 = £ £ g = £ H = 3 5 = £ £ g | £ b=
= E 5 = =& 8 = = 2 s S8 &§ © &5 8 = = 2 5 S8 ¥§ © %5
<] el ] & o 5 & o 8 o 238 S ¥8 b s ® o 8 9 23 - 25
> =] 3 b < Ee E2 Eg 5 = e 8 &g S3 &® og Ean s = g 8 &g 383 &® I3
E 5 o 2 5 2 s EE ET Eg ¢ 2 £ c £ 5 ©c B®E ©E EE£ £ 2 £ c £ T5 ©c TE ©-¢
© S i o = = I £ 9 &% €3 i3 ] 28 © s £ = o == = o €3 s 8 28 © s € s £ == =
= 2 E: a = L S 5% SE a £ 58 = 58 52 58 &8 5% a £ 6] = 58 52 58 &3
[__] [__] [__] ETA dO df Tinst Smin Cmin hmin hl hnnm hef tfix Scr N Ccr N Scr Sp ccr Sp hmin hl hnnm hef tﬁx Scr N ccr N Scr Sp Ccr Sp
[mm] [mm] [Nm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm]
MIA416090  M16x 90 (D) Ix] - - - - - - - - - 100 7 69 49 4 147 74 280 140
MIA416145  M16 x 145 (1) v 16 18 120 110 110 23
S MIAA6170 M6y 170 ) , 168 110 1035 84 28 252 126 336 168 - - - - - - - - -
T
E  MiA420120  M20x120(G) I - = = = = = - - = 145 105 93 71 5 213 107 360 180
MIA420170  M20x 170 (K) v 20 22 240 135 135 23
MIA420220 M20 x 220 (0) v 206 135 125 103 73 309 155 412 206 - - - - - - - - -
X

Ref. FT MTH-en Rev: 11 23/04/25 70f19



TECHNICAL DATASHEET ENDEX

A PERFECT FIXING

3.2. INSTALLATION PARAMETERS

General installation parameters Standard installation depth Reduced installation depth
T T
2 Vi 3 Vi S
_ © o o A © o S A o o 8
z g @ g 8§ £ ¢ s £ 3 g T E % 5 F & g T
ko g 5 8 2o £ < & 8 & #7 N £ 2 < g 8 & P79 N £
= £ = = = O o = © ] 4 == o € = o = o = i ] u = e o € S o =
= 5 ] © © < o = c < ) ® S o O ® w o o = c < ) ® S o O ® w o
2 = = £ £ S £ w i S & @ 8¢ TE S8= TEL2 £, S S o @ 89 TE 8= TSO
> =] ° ° ] m a w S o a o 3 o g » 8 o g a w = o o o 3 o g w 8 o
= © ~ 2 53 o o 2w 33 2o © © 2 o =9 -9 —£ =09 2 o 2 I} 2 o =9 -9 —£ =9
£ 2 8 a S 5 3 EE£ ELT E¢g £ = € £ £ 85 85 SE S5 E£¢£ £ = € £ £ 85 85 SE 85§
ol S & & b iz £ E® Ew £ a 2 (=Y 2 2§ = = = £ a 3 oo 2 2§ E g £ 3 B8
& 5 & e 52 5% SE= a £ 53 £ 58 &35 5& &3 5% a 2 E3 £ 58 53 &2 &3
-] -] -] ETA do ds Tinst S (i Nimin hy hnom hes trix Scr,N Carn St Casp Pimin hy hnom hes tiix Sern Cern Scrsp Cersp
[mm]  [mm] [Nm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm]  [mm]
AHAT06060 M6 x 60 (B) v 2 -
AHAT06080 M6 x 80 (D) v 6 7 7 35 35 100 55 49,5 40 22 120 60 160 80 - - - - - - - - -
AHAT06100 M6 x 100 (E) v 42 -
AHATO08060 M8 x 60 (B) v - - - - - - - - - 3
AHAT08075 M8 x 75 (C) 4 5 18
AHAT08090 M8 x 90 (E) v 20 33
AHAT08115 M8 x 115 (G) v 8 9 20 40 40 45 100 50 46,5 35 58 105 53 140 70
100 65 59,5 48 144 72 192 96
AHAT08120 M8 x 120 (G) v 50 63
AHAT08130 M8 x 130 (H) v 60 73
AHAT08155 M8 x 155 (J) v 85 98
AHAT10070 M10 x 70 (C) v - - - - - - - - - 3
AHAT10080 M10 x 80 (D) v - - - - - - - - - 13
AHAT10090 M10 x 90 (E) v 10 23
_  AHAT10100 M10 x 100 (E) v 20 33
< AHAT10120 M10 x 120 (G) v 40 53
T 10 12 35 50 50 100 60 53,5 42 126 63 168 84
E  AHAT10140 M10 x 140 (1) v 110 7 65 s 60 165 o3 220 110 73
AHAT10150 M10 x 150 (1) v ’ 70 83
AHAT10160 M10 x 160 (J) v 80 93
AHAT10170 M10 x 170 (K) v 90 103
AHAT10210  M10x 210 (N) v 130 143
AHAT12090 M12 x 90 (E) v - - - - - - - - - 13
AHAT12100 M12 x 100 (E) v 8 23
AHAT12110 M12 x 110 (F) v 18 33
AHAT12130  M12 x 130 (H) v 38 53
AHAT12140 M12 x 140 (1) v 48 63
12 14 60 70 70 100 70 62 50 150 75 200 100
AHAT12160 M12 x 160 (J) v 130 85 77 65 68 195 98 260 130 83
AHAT12180 M12 x 180 (L) v 88 103
AHAT12200  M12 x 200 (M) v 108 123
AHAT12220  M12x 220 (0) v 128 143
AHAT12250 M12 x 250 (Q) v 158 173

Ref. FT MTH-en Rev: 11 23/04/25 80f19



TECHNICAL DATASHEET E"DEX

A PERFECT FIXING

4. INSTALLATION PROCEDURE

4.1 CONCRETE INSTALLATION

1. DRILLING
Check the concrete is well compacted and without significant porosity.
e . Suitable for dry, wet and flooded holes.
Use drill in hammer mode.
i \T Drill according to specified depths in previous tables.

2. BLOW AND CLEAN
‘ iNDEX — Clean the hole from dust and concrete remains.
Use blow pump and brush.

3. INSTALL

Insert the anchor until the red depth mark is at the same level with the
Sl i surface of the base material.

wu Use a hammer in case of need. DOMTA tool could be used alternatively.
L Installation could be performed through the fixture or before setting the

fixture.

4. APPLY THE TORQUE

’M} (] Apply the nominal torque specified in previous tables.
I Use torque wrench in order to ensure correct installation.

Ref. FT MTH-en Rev: 11 23/04/25 90f19



TECHNICAL DATASHEET

ENDEX

A PERFECT FIXING

5. RESISTANCES

Resistances in concrete class C20/25 for an isolated anchor without spacing or concrete edge distance effects are indicated in the
following table:

5.1 CHARACTERISTIC RESISTANCE [kN]

General Parameter

Standard installation depth

Reduced installation depth

Family Code size Assessed Tension Shear Tension Shear
Nrk A Nrk A
AH06060 M6 x 60 v
AH06070 M6 x 70 v
AH06080 M6 x 80 v
AH06090 M6 x 90 v
AH06100 M6 x 100 v
AH06110 M6 x 110 v
AH06120 M6 x 120 4 7,40 5,10 - -
AH06130 M6 x 130 v
AH06140 M6 x 140 v
AH06150 M6 x 150 v
AH06160 M6 x 160 v
AH06170 M6 x 170 v
AH06180 M6 x 180 v
AH08060 M8 x 60 v - -- 10,00 10,19
AH08075 M8 x 75 v
AH08090 M8 x 90 v
AH08100 M8 x 100 v
AH08115 M8 x 115 v 13,00 9,30 10,00 10,19
AH08120 M8 x 120 v
AH08130 M8 x 130 v
AH08155 M8 x 155 v
AH10070 M10 x 70 v
AH10080 M10 x 80 v - - 13,39 13,39
MITH AH10090 M10 x 90 v
AH10100 M10 x 100 v
AH10120 M10 x 120 v
AH10140 M10 x 140 v
AH10150 M10 x 150 v 19,00 14,70 13,39 13,39
AH10160 M10 x 160 v
AH10170 M10 x 170 v
AH10210 M10 x 210 v
AH10230 M10 x 230 v
AH12090 M12 x 90 v - -- 17,39 17,39
AH12100 M12 x 100 v
AH12110 M12 x 110 v
AH12120 M12 x 120 v
AH12130 M12 x 130 v
AH12140 M12 x 140 v
AH12160 M12 x 160 v A 20.60 17,39 17,39
AH12180 M12 x 180 v
AH12200 M12 x 200 v
AH12220 M12 x 220 v
AH12250 M12 x 250 v
AH14120 M14 x 120 v
AH14145 M14 x 145 v
AH14170 M14 x 170 v 31,95 28,10 - -
AH14220 M14 x 220 v
AH14250 M14 x 250 v
Ref.  FT MTH-en Rev: 11 23/04/25 10 of 19



TECHNICAL DATASHEET g"DEx

A PERFECT FIXING

General Parameter Standard installation depth Reduced installation depth
Family Code size Assessed Tension Shear Tension Shear
Nrk VRrk Nrk VRk
AH16125 M16 x 125 v
AH16145 M16 x 145 v
R 7 37,87 3840 25,78 3840
MTH AH16250 M16 x 250 v
AH16280 M16 x 280 v
AH20170 M20 x 170 v
AH20220 M20 x 220 v 51,42 56,30 31,95 63,90
AH20270 M20 x 270 v
MI06045 M6 x 45 [x] - -- 6,15 6,00
MI06060 M6 x 60 v
MI06080 M6 x 80 v
MI06120 M6 x 120 v
MI06140 M6 x 140 v 10,10 6,00 - -
MI06160 M6 x 160 v
MI06170 M6 x 170 v
MI06180 M6 x 180 v
MI08050 M8 x 50 [x] -- - 5,43 5,43
MI08075 M8 x 75 v
MI08090 M8 x 90 v 12,00 10,90 9,00 10,19
MI08115 M8 x 115 v
MI10070 M10 x 70 v - -
MTH-A2 MI10090 M10 x 90 v
MI10120 M10 x 120 v 16,00 17,40 12,00 13,39
7 =2z =
MI10150 M10 x 150 v
MI12075 M12 x 75 [x] = = 13,87 13,87
MI12090 M12 x 90 v = =
MI12110 M12 x 110 v 16,00 17,39
MI12140 M12 x 140 v 2 S
MI16090 M16 x 90 [x] - - 16,87 16,87
MI16145 M16 x 145 v
MI16170 M16 x 170 v 35,00 42,10 - -
MI20120 M20 x 120 [x] - - 29,43 58,86
MI20170 M20 x 170 v
MI20220 M20 x 220 v 2Ly S - -
MIA406045 M6 x 45 [x] - -- 6,15 6,00
MIA406060 M6 x 60 v
MIA406080 M6 x 80 v 10.10 £.00 - -
MIA408050 M8 x 50 [x] = -- 5,43 5,43
MIA408075 M8 x 75 v
MIA408090 M8 x 90 v 12,00 10,90 9,00 10,19
MIA408115 M8 x 115 v
MIA410070 M10 x 70 v - -
MIA410090 M10 x 90 v
MIA410120 M10 x 120 v 16,00 17,40 12,00 13,39
7 =z =
MTH-A4 MIA410150 M10 x 150 v
MIA412075 M12 x 75 [x] = -- 13,87 13,87
MIA412090 M12 x 90 v = =
MIA412110 M12 x 110 v 16,00 17,39
MIA412140 M12 x 140 v 5Ly B
MIA416090 M16 x 90 [x] - -- 16,87 16,87
MIA416145 M16 x 145 v
MIA416170 M16 x 170 v 35,00 42,10 - -
MIA420120 M20 x 120 [x] = -- 29,43 58,86
MIA420170 M20 x 170 v
MIA420220  M20x 220 v a0y S - -

Ref. FT MTH-en Rev: 11 23/04/25 110f19



TECHNICAL DATASHEET

ENDEX

A PERFECT FIXING

General Parameter

Standard installation depth

Reduced installation depth

Family Code Size Assessed Tension Shear Tension Shear
Nrk VR Nrk VRk

AHAT06060 M6 x 60 v
AHATO06080 M6 x 80 v 7,40 5,10 - -
AHAT06100 M6 x 100 v
AHAT08060 M8 x 60 v = - 10,00 10,19
AHAT08075 M8 x 75 v
AHAT08090 M8 x 90 v
AHATO08100 M8 x 100 v
AHAT08115 M8 x 115 v S s oy Ao
AHAT08130 M8 x 130 v
AHAT08155 M8 x 155 v
AHAT10070 M10 x 70 v
AHAT10080 M10 x 80 v - - 13,39 13,39
AHAT10090 M10 x 90 v
AHAT10100 M10 x 100 v
AHAT10120 M10 x 120 v
AHAT10140 M10 x 140 v
AHAT10150 M10 x 150 v 19,00 14,70 13,39 13,39
AHAT10160 M10 x 160 v
AHAT10170 M10 x 170 v

MTH-AT AHAT10210 M10 x 210 v
AHAT12090 M12 x 90 v -- - 17,39 17,39
AHAT12100 M12 x 100 v
AHAT12110 M12 x 110 v
AHAT12130 M12 x 130 v
AHAT12140 M12 x 140 v
AHAT12160 M12 x 160 v 25,78 20,60 17,39 17,39
AHAT12180 M12 x 180 v
AHAT12200 M12 x 200 v
AHAT12220 M12 x 220 v
AHAT12250 M12 x 250 v
AHAT16125 M16 x 125 v
AHAT16145 M16 x 145 v
AHAT16170 M16 x 170 v
AHAT16220 M16 x 220 v 37,87 35840 25,78 35840
AHAT16250 M16 x 250 v
AHAT16280 M16 x 280 v
AHAT20170 M20 x 170 v
AHAT20220 M20 x 220 v 51,42 56,30 31,95 63,90
AHAT20270 M20 x 270 v

1 KN =100 kg
Values underlined and in italics show Steel failure, bold values concrete failure and other indicate pull out failure.
Ref.  FT MTH-en Rev: 11 23/04/25 12 0f 19



TECHNICAL DATASHEET QNDEX

A PERFECT FIXING

5.2 DESIGN RESISTANCE [kN]

General Parameter Standard installation depth Reduced installation depths
. 5 Tension Shear Tension Shear
Family Code Size Assessed Nag Vg Nk Vag
AH06060 M6 x 60 v
AH06070 M6 x 70 v
AH06080 M6 x 80 v
AH06090 M6 x 90 v
AH06100 M6 x 100 v
AH06110 M6 x 110 v
AH06120 M6 x 120 v 5,29 4,08 - -
AH06130 M6 x 130 v
AH06140 M6 x 140 v
AH06150 M6 x 150 v
AH06160 M6 x 160 v
AH06170 M6 x 170 v
AH06180 M6 x 180 v
AH08060 M8 x 60 v -- - 6,67 6,79
AH08075 M8 x 75 v
AH08090 M8 x 90 v
AH08100 M8 x 100 v
AH08115 M8 x 115 v 9,29 744 6,67 6,79
AH08120 M8 x 120 v
AH08130 M8 x 130 v
AH08155 M8 x 155 v
AH10070 M10 x 70 v 3 B 8,03 8,03
AH10080 M10 x 80 v
MITH AH10090 M10 x 90 v
AH10100 M10 x 100 v
AH10120 M10 x 120 v
AH10140 M10 x 140 v
AH10150 M10 x 150 v 12,67 11,76 8,93 8,93
AH10160 M10 x 160 v
AH10170 M10 x 170 v
AH10210 M10 x 210 v
AH10230 M10 x 230 v
AH12090 M12 x 90 v = - 11,60 11,60
AH12100 M12 x 100 v
AH12110 M12 x 110 v
AH12120 M12 x 120 v
AH12130 M12 x 130 v
AH12140 M12 x 140 v
AH12160 M12 x 160 v i) e e Sy
AH12180 M12 x 180 v
AH12200 M12 x 200 v
AH12220 M12 x 220 v
AH12250 M12 x 250 v
AH14120 M14 x 120 v
AH14145 M14 x 145 v
AH14170 M14 x 170 v 21,30 22,48 -- --
AH14220 M14 x 220 v
AH14250 M14 x 250 v

Ref. FT MTH-en Rev: 11 23/04/25 13 0f 19



TECHNICAL DATASHEET EHDEX

A PERFECT FIXING

General Parameter Standard installation depth Reduced installation depth
Family Code Size Assessed Tension Shear Tension Shear
Nrd Vrd Nrd VRd
AH16125 M16 x 125 v
AH16145 M16 x 145 v
R 02 02
MTH AH16250 M16 x 250 v
AH16280 M16 x 280 v
AH20170 M20x 170 v
AH20220 M20 x 220 v 34,28 45,04 21,30 42,60
AH20270 M20 x 270 v
MI06045 M6 x 45 [x] - - 4,10 3,95
MI06060 M6 x 60 v
MI06080 M6 x 80 v
MI06120 M6 x 120 v
MI06140 M6 x 140 v 6,01 3,95 - -
MI06160 M6 x 160 v
MI06170 M6 x 170 v
MI06180 M6 x 180 v
MI08050 M8 x 50 [x] = = 3,01 3,62
MI08075 M8 x 75 v
MI08090 M8 x 90 v 8,00 715 5,00 6,79
MI08115 M8 x 115 v
MI10070 M10 x 70 v - -
MTH-A2 MI10090 M10 x 90 v 6,67 893
MI10120 M10 x 120 v 8,89 11,45
MI10150 M10 x 150 v
MI12075 M12 x 75 [x] = = 7,71 9,25
MI12090 M12 x 90 v = =
MI12110 M12 x 110 v 8,89 11,60
MI12140 M12 x 140 v el EEiEE
MI16090 M16 x 90 [x] - -- 9,37 11,25
MI16145 M16 x 145 v
MI16170 M16 x 170 v 19,44 30.99 - -
MI20120 M20 x 120 [x] = = 16,35 39,24
MI20170 M20 x 170 v
MI20220 M20 x 220 v 2 s - -
MIA406045 M6 x 45 [x] - - 4,10 3,95
MIA406060 M6 x 60 v
MIA406080 M6 x 80 v 6,01 395 - -
MIA408050 M8 x 50 [x] = = 3,01 3,62
MIA408075 M8 x 75 v
MIA408090 M8 x 90 v 8,00 717 5,00 6,79
MIA408115 M8 x 115 v
MIA410070 M10 x 70 v - -
MIA410090 M10 x 90 v
MIA410120 M10 x 120 4 8,89 11,45 6.67 8,93
’ —_—r =
MTH-A4 MIA410150 M10 x 150 v
MIA412075 M12 x 75 [x] = = 7,71 9,25
MIA412090 M12 x 90 v = =
MIA412110 M12 x 110 v 8,89 11,60
MIA412140 M12 x 140 L2 Sid
MIA416090 M16 x 90 [x] - - 9,37 11,25
MIA416145 M16 x 145 v
MIA416170 M16 x 170 v 19,44 30,99 - -
MIA420120 M20 x 120 [x] - - 16,35 39,24
MIA420170 M20 x 170 v
MIA420220 M20 x 220 v 20Tt Liih - -

Ref. FT MTH-en Rev: 11 23/04/25 14 of 19



TECHNICAL DATASHEET

ENDEX

A PERFECT FIXING

General Parameter

Standard installation depth

Reduced installation depth

Family Code size Assessed Tension Shear Tension Shear
Nrd Vrd Nrd VRrd

AHAT06060 M6 x 60 v
AHAT06080 M6 x 80 v 5,29 4,08 - -
AHAT06100 M6 x 100 v
AHAT08060 M8 x 60 v -- - 6,67 6,79
AHAT08075 M8 x 75 v
AHATO08090 M8 x 90 v
AHATO08100 M8 x 100 v
AHAT08115 M8 x 115 v 240 244 6,67 6,79
AHAT08130 M8 x 130 v
AHATO08155 M8 x 155 v
AHAT10070 M10 x 70 v
AHAT10080 M10 x 80 v - - 8,93 8,93
AHAT10090 M10 x 90 v
AHAT10100 M10 x 100 v
AHAT10120 M10 x 120 v
AHAT10140 M10 x 140 v
AHAT10150 M10 x 150 v 12,67 1L76 8,93 8,93
AHAT10160 M10 x 160 v
AHAT10170 M10 x 170 v

MTH-AT AHAT10210 M10 x 210 v
AHAT12090 M12 x 90 v -- - 11,60 11,60
AHAT12100 M12 x 100 v
AHAT12110 M12 x 110 v
AHAT12130 M12 x 130 v
AHAT12140 M12 x 140 v
AHAT12160 M12 x 160 v 17,19 16,48 11,60 11,60
AHAT12180 M12 x 180 v
AHAT12200 M12 x 200 v
AHAT12220 M12 x 220 v
AHAT12250 M12 x 250 v
AHAT16125 M16 x 125 v
AHAT16145 M16 x 145 v
AHAT16170 M16 x 170 v
AHAT16220 M16 x 220 v 25,25 30,72 17,19 30.72
AHAT16250 M16 x 250 v
AHAT16280 M16 x 280 v
AHAT20170 M20 x 170 v
AHAT20220 M20 x 220 v 34,28 45,04 21,30 42,60
AHAT20270 M20 x 270 v

1 KN =100 kg

Values underlined and in italics show Steel failure, bold values concrete failure and other indicate pull out failure.

Ref. FT MTH-en Rev: 11 23/04/25 150f 19



TECHNICAL DATASHEET g“DEx

A PERFECT FIXING

5.3 MAXIMUM LOADS RECOMMENDED [kN] (with y¢=1.4)

General Parameter Standard installation depth Reduced installation depth
Family Code size Assessed Tension Shear Tension Shear
N rec Vrec N rec Vrec
AH06060 M6 x 60 v
AH06070 M6 x 70 v
AH06080 M6 x 80 v
AH06090 M6 x 90 v
AH06100 M6 x 100 v
AH06110 M6 x 110 v
AH06120 M6 x 120 v 3,78 2,91 - -
AH06130 M6 x 130 v
AH06140 M6 x 140 v
AH06150 M6 x 150 v
AH06160 M6 x 160 v
AH06170 M6 x 170 v
AH06180 M6 x 180 v
AH08060 M8 x 60 v -- - 4,76 4,85
AH08075 M8 x 75 v
AH08090 M8 x 90 v
AH08100 M8 x 100 v
AHO08115 M8 x 115 v 6,63 5,31 4,76 4,85
AH08120 M8 x 120 v
AH08130 M8 x 130 v
AH08155 M8 x 155 v
AH10070 M10 x 70 v
AH10080 M10 x 80 v - - 6,38 6,38
MITH AH10090 M10 x 90 v
AH10100 M10 x 100 v
AH10120 M10 x 120 v
AH10140 M10 x 140 v
AH10150 M10 x 150 v 9,05 8,40 6,38 6,38
AH10160 M10 x 160 v
AH10170 M10 x 170 v
AH10210 M10 x 210 v
AH10230 M10 x 230 v
AH12090 M12 x 90 v -- - 8,28 8,28
AH12100 M12 x 100 v
AH12110 M12 x 110 v
AH12120 M12 x 120 v
AH12130 M12 x 130 v
AH12140 M12 x 140 v
AH12160 M12 x 160 v L2 zs 1177 8,28 8,28
AH12180 M12 x 180 v
AH12200 M12 x 200 v
AH12220 M12 x 220 v
AH12250 M12 x 250 v
AH14120 M14 x 120 v
AH14145 M14 x 145 v
AH14170 M14 x 170 v 15,22 16,06 - -
AH14220 M14 x 220 v
AH14250 M14 x 250 v

Ref. FT MTH-en Rev: 11 23/04/25 16 of 19



TECHNICAL DATASHEET g"DEx

A PERFECT FIXING

General Parameter Standard depth Reduced installation depth
Family Code size Assessed Tension Shear Tension Shear
Nrec Vrec Nrec Vrec
AH16125 M16 x 125 v
AH16145 M16 x 145 v
AH16170 M16 x 170 v
AH16220 M16 x 220 v 18,03 2194 12,28 2194
MTH AH16250 M16 x 250 v
AH16280 M16 x 280 v
AH20170 M20 x 170 v
AH20220 M20 x 220 v 24,49 32,17 15,22 30,43
AH20270 M20 x 270 v
MI06045 M6 x 45 Ix] -- - 2,93 2,82
MI06060 M6 x 60 v
MI06080 M6 x 80 v
MI06120 M6 x 120 v
MI06140 M6 x 140 v 4,29 2,82 - -
MI06160 M6 x 160 v
MI06170 M6 x 170 v
MI06180 M6 x 180 v
MI08050 M8 x 50 [x] = - 2,15 2,58
MI08075 M8 x 75 v
MI08090 M8 x 90 v 5,71 5,12 3,57 4,85
MI08115 M8 x 115 v
MI10070 M10 x 70 v - --
MTH-A2 MI10090 M10 x 90 4 476 6,38
MI10120 M10 x 120 v 6,35 8,18
MI10150 M10 x 150 v
MI12075 M12 x 75 [x] -- -- 5,50 6,61
MI12090 M12 x 90 v = --
MI12110 M12 x 110 v 6,35 8,28
MI12140 M12 x 140 v SR s
MI16090 M16 x 90 [x] - -- 6,70 8,03
MI16145 M16 x 145 v
MI16170 M16 x 170 v 13,89 2213 - -
MI20120 M20 x 120 [x] -- -- 11,68 28,03
MI20170 M20 x 170 v
MI20220 M20 x 220 v R e - -
MIA406045 M6 x 45 [x] - -- 2,93 2,82
MIA406060 M6 x 60 v
MIA406080 M6 x 80 v 429 282 - -
MIA408050 M8 x 50 [x] = -- 2,15 2,58
MIA408075 M8 x 75 v
MIA408090 M8 x 90 v 5,71 512 3,57 4,85
MIA408115 M8 x 115 v
MIA410070 M10x 70 v - --
MIA410090 M10 x 90 v 4,76 6,38
MIA410120 M10 x 120 v 6,35 8,18
MTH-A4 MIA410150 M10 x 150 v
MIA412075 M12x 75 [x] = -- 5,50 6,61
MIA412090 M12 x 90 v = --
MIA412110 M12 x 110 v 6,35 8,28
MIA412140 M12 x 140 v g2 Ll
MIA416090 M16 x 90 [x] - -- 6,70 8,03
MIA416145 M16 x 145 v
MIA416170 M16 x 170 v 13,39 2213 - -
MIA420120 M20 x 120 [x] = -- 11,68 28,03
MIA420170 M20 x 170 v
MIA420220  M20x 220 v e e - -

Ref. FT MTH-en Rev: 11 23/04/25 17 of 19



TECHNICAL DATASHEET

ENDEX

A PERFECT FIXING

General Parameter Standard depth Reduced installation depth
Family Code size Assessed Tension Shear Tension Shear
N rec Vrec N rec Vrec
AHAT06060 M6 x 60 v
AHAT06080 M6 x 80 v 3,78 2,91 - -
AHAT06100 M6 x 100 v
AHAT08060 M8 x 60 v = - 4,76 4,85
AHAT08075 M8 x 75 v
AHAT08090 M8 x 90 v
AHATO08100 M8 x 100 v
AHAT08115 M8 x 115 v EXE G 4,76 4,85
AHAT08130 M8 x 130 v
AHAT08155 M8 x 155 v
AHAT10070 M10 x 70 v
AHAT10080 M10 x 80 v - - 6,38 6,38
AHAT10090 M10 x 90 v
AHAT10100 M10 x 100 v
AHAT10120 M10 x 120 v
AHAT10140 M10 x 140 v
AHAT10150 M10 x 150 v 3,05 840 6,38 6,38
AHAT10160 M10 x 160 v
AHAT10170 M10 x 170 v
MTH-AT AHAT10210 M10 x 210 v
AHAT12090 M12 x 90 v -- - 8,28 8,28
AHAT12100 M12 x 100 v
AHAT12110 M12 x 110 v
AHAT12130 M12 x 130 v
AHAT12140 M12 x 140 v
AHAT12160 M12 x 160 v 12,28 11,77 8,28 8,28
AHAT12180 M12 x 180 v
AHAT12200 M12 x 200 v
AHAT12220 M12 x 220 v
AHAT12250 M12 x 250 v
AHAT16125 M16 x 125 v
AHAT16145 M16 x 145 v
AHAT16170 M16 x 170 v
AHAT16220 M16 x 220 v 18,03 2194 12,28 21.94
AHAT16250 M16 x 250 v
AHAT16280 M16 x 280 v
AHAT20170 M20 x 170 v
AHAT20220 M20 x 220 v 24,49 32,17 15,22 30,43
AHAT20270 M20 x 270 v
1 KN =100 kg

Values underlined and in italics show Steel failure, bold values concrete failure and other indicate pull out failure.

Ref. FT MTH-en Rev: 11 23/04/25 18 of 19



TECHNICAL DATASHEET ENDEX

A PERFECT FIXING

PULL OUT INCREASINF FACTOR
FOR TENSION LOADS IN HIGH RESISTANCE CONCRETE

CONCRETE FACTOR C30/37 C40/50 C50/60

W, (Non-cracked) 1,22 1,41 1,55

7. OFFICIAL DOCUMENTATION

The following documents are available through our Sales Department or on our official website: www.indexfix.com:

e European assessment ETA 05/0242 for installation in non-cracked concrete according to guideline EAD 330232-00-0601,
option 7, from M6 of M20.

e Declaration of performance DoP MTH.

e Available for the anchor design software INDEXcal.

Ref. FT MTH-en Rev: 11 23/04/25 19 0f 19


http://www.indexfix.com/

